
15.3 Corrective Assignment – Power Rule  Name: _____________________________ 

Pre‐Calculus 
Find the derivative of each function and simplify.  Your answer should contain only positive exponents. 

1. ݂ሺݔሻ ൌ  ݔ3
 
 
 
 
 
 

ݕ .2 ൌ 21  3. ݂ሺݔሻ ൌ
ସ

௫
 

 

ݕ .4 ൌ ଶݔ െ ݔ6 ൅ 11 
 
 
 

5. ݂ሺݔሻ ൌ
௫

ଷ
 

6. ݂ሺݔሻ ൌ  ହߨ2
 
 
 
 
 
 
 
 

ሻݐሺݏ .7 ൌ
ଶ

√௧
 

 

ሻݐሺݏ .8 ൌ
ହ

௧య
 

 

9. ݂ሺݔሻ ൌ  ݔ√5
 

ݕ .10 ൌ రݔ√
 

 
 
 
 
 
 
 
 
 
 

11. ݂ሺݔሻ ൌ ହݔ√
య

 
 
 

12. ݂ሺݔሻ ൌ
௫

௫షయ
 

 
13. ݄ሺݔሻ ൌ

௫యିଶ௫మା଼௫

௫మ
 

 
 
 
 
 

ሻݐሺݏ .14 ൌ ݐ12 െ ଷݐ5 ൅ 8 
 
 
 
 
 
 
 
 
 

15. ݂ሺݔሻ ൌ ݁ସ ൅ ଶߨ3 െ 1 
 

ݕ .16 ൌ ሺݔଶ ൅ ݔ2 െ 4ሻሺ4ିݔଶ ൅  ଵሻିݔ
 
 
 
 

Find the value of the derivative of the function at the indicated point. 

17. ݂ሺݔሻ ൌ
ଶ

௫య
  at  ሺ1,2ሻ 

 
 
 
 
 
 
 
 
 
 
 

18. ݂ሺݔሻ ൌ 5 െ
ଵ

ସ௫
  at  ቀ

ଵ

ଷ
,
ଵ଻

ସ
ቁ 

 
 
 
 
 
 



Determine the x‐value(s) at which the function has a horizontal tangent line. 

ݕ .19 ൌ ସݔ െ ଶݔ18 െ 3 
 
 
 
 
 
 
 
 
 

ݕ .20 ൌ ଶݔ7 ൅ ݔ28 െ 2 
 
 
 

Find the equation of a tangent line of each function at the indicated point. 

21. ݂ሺݔሻ ൌ ଶݔ5 െ ݔ2 ൅ ݔ   ;1 ൌ 2 
 
 
 
 
 
 
 
 

22. ݂ሺݔሻ ൌ ଷݔ3 െ ݔ    ;ݔ ൌ െ1 
 
 
 

     
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Answers to 15.3 Corrective Assignment 
1. ݂ᇱሺݔሻ ൌ 3 
 

2. 
ௗ௬

ௗ௫
ൌ 0  3. ݂ᇱሺݔሻ ൌ െ

4
2ݔ
  4. 

ௗ௬

ௗ௫
ൌ ݔ2 െ 6 

5. ݂ᇱሺݔሻ ൌ
1
3
  6. ݂ᇱሺݔሻ ൌ 0  ሻݐᇱሺݏ .7 ൌ െ

1
ඥ3ݐ

  ሻݐᇱሺݏ .8 ൌ െ
15
4ݐ
 

9. ݂ᇱሺݔሻ ൌ
5
ݔ√2

  10. 
ௗ௬

ௗ௫
ൌ

ଵ

ସ ඥ௫య
ర   11. ݂ᇱሺݔሻ ൌ

ହ

ଷ ඥ௫మ
య   12. ݂ᇱሺݔሻ ൌ ଷݔ4

13. ݄ᇱሺݔሻ ൌ 1 െ
଼

௫మ
  ሻݐᇱሺݏ .14 ൌ 12 െ ଶݐ15 15. ݂ᇱሺݔሻ ൌ 0 16. 

ௗ௬

ௗ௫
ൌ 1 െ

ସ

௫మ
൅

ଷଶ

௫య
 

17. ݂ᇱሺ1ሻ ൌ െ6  18. ݂ᇱ ቀ
ଵ

ଷ
ቁ ൌ

ଽ

ସ
  ݔ .19 ൌ 0, 3, െ3 

ݔ .20 ൌ െ2  ݕ  .21 െ 17 ൌ 18ሺݔ െ 2ሻ
                     or 
ݕ                  ൌ ݔ18 െ 19

ݕ .22 ൅ 2 ൌ 8ሺݔ ൅ 1ሻ 
                  or	
ݕ              ൌ ݔ8 ൅ 6 

 


